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qQuestionszopovts) |

1 The Institute of Management Accountants {IMA]:
! |sa professional organization of management accountants
b.. s 3 professional organization of financial accountants
e isaprofessional subsidiary of the Financial Accounting Standards Board (FASE
d. issues standards for fimancial accounting

2. Which of the following statements about the direct/Indirect cost classification |s NOT trus?
2. Direct costs are always traced
b, Direct costs are always alflocated
(2} The design of operations affect the direct/ Indirect classification
d. The direct/ Indirect classification depends on the chaice of the cost object

3.& manufacturing plant produces two product lines: faothall equipment and hockey eguipment. Direct
costs for manufacturing méipq:qﬂ!mpmnmnu are the
a. beverages provided daily in the plant break room
@ manthly lease payments for 2 specialized plece of equipment needed to manufacture the football

helmat
e salanesol the clerital staff tNat work in the company administrative office

L utines ond for the manutaciusing pat

4 A milxed cost is:
3. Afled costs
@.‘-‘ A cost with fixed and vanable slements
£, Avariable cost
d. Always an Indirect cost i

5. whe 10,000 units are produced, fived costs are 514 per umit. Therefore, when 20,000 units arg

(J:_ruduted fixed costs will: -
51 llr _—
A, Increase to 518 per unit '| v
b. remain at 514 per unit - =
¢ decrease to 57 perunit o ©° 11
o, total $280,000 -7
Dap??




& 'Wheel and Tire Manufactusing currently produces 1,000 1@; purmmtIm The following per unit data
v g ———
apply for sales to regular customers:

Direct materials 520 v
Direct manufacturing labor 3 % A
Variable manufacturing overhead &

Fixed monufocturing cverheod

Tatal manufecturing costs @1

The plant has capacity for 3,000 tires and is considering expanding production to 2,000 tires, What is
the tota] cost of producing 2,000 tires?

3. T’HE,EEIJ
@ $78,000
c 568000
d. 582,000
WA
7. During 2007, Kent Company applies wwwmm a rate of 512 per d}rg%'_ {LU' -

|i|:H.'IF hours. Estimated direct labar hours for the year were Eu‘d:lﬂ astimated merhga:i for the year

was 51 BOOD00. Actual direct labor hours for 2007 wers 140,000 and actual averhead was $1,700,000 A
e P e el

WRE? 13 TR 3TOURT O uiider &f Over dpphed Overhead for the year S0<

ke __!""l'!:ﬂ.-..J dpphe overtiead for the year? (b W 50 o=@
a. 5100.000 underapplied

@S'ID.WE underapplied

% erappliec ol .:-”7

d. §120.000 underapplled

8. When indirect materials are requisitioned the account i increased
CManufiﬂunm Overhead Cantrol
b. ‘Wark-in-Process Contral
£. Matenals Control
d. Accounts Payable Cantrol

9 Computer-cantrolled manufacturing systems generally
(“#) decrease the accuracy of the production process.
resuit in a decrease in direct labor costs.
“E increase the variabie costs and decreass fied costs,
“l_mean that cverhead shauld be allocated based on direct labor haurs,



10.1f & company has zero beginning inventory and zero ending inventory |is completely just-in-time], then
which of the foliowing is true:
" cost of goods sold will equal cost of goods manufactured
b. cost of goods sold will be zero
@ eost of goods manutactured will be zera
d. all of the above

USE THE FOLLOWING INFORMATION FOR THE NEXT 4 QUESTIONS Bl { AL
= el v .
Star Company’s accountants estimate tatal overhead for each month will be $64,000, They will
a averhead on the basis of direct t Duripg the current manth, 3 jobs were worked on:
flocate ect lobor cos g |
Job 745 CJob 74E lob 787 p'u_d?w{f
A -
Direct material < 336,000 | $56,000 524,000
Direct fobor 555,000 72,000 % 540,000
g “.."-'r Oﬂ} s
Job 745 was completed and sold, Jog 746  wis coiipleted, MHJW Budgeted
drmk:harwrj‘mﬂummthw!i nﬂn'l:ﬂuufmhmﬂ'wm,‘iﬁﬂﬂﬂ il
R L“ o ik Moo 0 F i
(‘S’S‘mepﬂlﬂ % .Fkuﬂ"@
b. $1.800 underapplied L .;_1 R .r( rl@ o
c. 54,848 nvemppﬂ':ed .
d. 8,000 underapplied 1% o
e H

12. Assuming overhead was 52,000 underapplied and that this amount Is considered material, the hi]-anm
ot ks -1 7 of work in process after lllmtlm of the underapplied overhead hauﬂ on o everhead :hargtd tothe th!

gccownts during the period I’S-

a. 5115073
b. 580,456
c 113,727
(@ 79,544

13. Assuming overhead was SE,EDD overapplied and that this amount is considered materlal; the final
adjusted belance of finizhed goods inventory |s

& 5157693
b 5115,053
@. §113,747
d. 5155507




14. Assuming overhead was 5100 underapplied and that this amount is considered immaterial, the final
adjusted balance of cost of goods sold is

592,100
$211,800
$114,500
579,900

afno e

15. The person MOST likely to use management accounting information is a(n):
banker avaluating a credit application '
b. shareholder evaluating a stock investment
@ governmental taxing authority
d. assembly department supervisor
16. Cost objects include:
@.‘ products
b. customers
L. departments
d. all of these answers are corract.

17. The principle that managers follow when they only investigate departures from the plah that appear
to be significant is commaonly known 33
c. only labor and materials deserve attention.
d. exceptional costs yield exceptional results,

18. A retailer purchased some trendy clothes that have gone out of style and must be marked down to
20% of the original selling price in order to be sold. Which of tha following is 2 sunk cost in this
situation?

a. the current selling price

b. the original selling price
@ the ariginal purchase price

d. the anticipated profit

€ %
19, If the cost of goods manufactured is less than the cost of goods sold, which of the following is correct:
.-F._'_ -

@ Finished Goods Inventory has increased.

. ‘Work In Process Inventary has increased.
€ Finished Goods Inventary has decreased.
d. Work in Process inventory has decraased.
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20 If the balance in the Finished Goods Inventory account Wuﬂm during the period and
the cost of goods manufactured was $220,000, what was the cost of goods sold7?
a. 5110000
(& $190.,000
e, 5220000
d. 5250,000

Horton Company uses 3 job costing system, and factory overhead is spplied on the basis of machine.

howrs. At the beginning of the year, management estimated that the company would incur g;usu,mp of
factory overhead costs and use 70,000 machine howrs, | 3
Haorton Company recarded the following events during the manth of March:

1. Purchased 200,000 kilos of matenals on account, The cost was £3.00 per kilo

2. lssued 150,000 kilos of materials to production, of which 20,000 kilos were used as lgggg;{_
materials, -
3 Incursed 5250,000 of direct Iabor casts and 330,000 of indirect labioe costs. ‘-,ll"-"'," !]_,‘f

2 Recorded deprs:au-nn on equipment for the mnlhﬁ@_

Cﬂﬂm1!t!‘ﬁhh Mﬂ m‘n@mﬂjﬂh M12: a:m;hl $80,000 during the month and transferrad
them to Finished Goods inventory account.
;g-"- B 5h1ppl!d job W12 to the customer during the month. The job was invoiced at 40 percant above cost.
8 Used 8000 machine hours during March.
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During a racent manth, Pisces, Inc. reported the following activity:
lobs 1
1 i {53 4

[ 2L 1

Beginning balance 1500  $2,000 Fuum $ 400

Direct materials 0 100 1,200 3,000
|
.0
Direct labor 495 | 308 450
Mok I:t"'f_lzi '.It' :-“' . PR A

Direct labior hours EER "
Cverhead is allocated =t$? 50 per diract labor huur hbs 1 } 1, u%d 4 were completed, and Inh,l},m:-
deliverad to the customer.  aoH = 7 ¢ (L L [
Required: [t ™
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